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Qrder .
inat: Pass - nts of a certain
Mmatijg in tuden
requireq mn ' 2 Btuden, ai 3. 78% of ﬂ: s;,yg,incs and 38% tooK
of the aggresct 280 maryg _1® class t00% F7 ch student took.
got 264 frlal'l%: p.. S re:?t: Chemlsm;e subject from physics
fail by oo nd wag eclare at least O‘S_t-ry and 40 students
minimupm, 'an‘ . What g tl;d = Chertr;: then the total number
the ex .p S.SIng perCenta € tOOkbo .’ '.n the class is
aMination? 8¢ of of students 1
1) 200
(1) 35 1
(2) 250
(2) 37 (3) 300
(4) 350
3) 39 B _
E¥E 4, spneha, Savitha and Smitha

' jointly invested 2‘30,0(?0 in a

4) 31 | business. If Sneha invested
¥ 5,000 less than Smitha and

Savitha invested ¥ 5,000 more

than Smitha, then find the

2. Tl:le average age of Suresh, his - {i-f;f;u(t)}(l)%} Oiimfi totel
wife Sapna and son Sunil is 40 e ’
years. Sunil got married to
Sandhya and they had a child i SLe
Shek.har after 2 years of (2) 2,000
marriage. When Shekhar was 4
years of age, the average age of (3) 4,000
family members became 36
years. What was the age of (4) 5,000
Sandhya at the time of
marriage? 5. It takes 20 days for a tank to get

filled with rain water. If the level
of water doubles each day, then

(1) 30 years how long will it takes to £l
1/4th of the tank?

(2) 38 years (1) 16 days

(2) 12 days

(3) 34 years (3) 18 days

) 29 years (4) 15 days
(4 y¢
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weaker
Mcrease

re.lat.ions.hips
eCosystem Stability,
Reason (R) : Less Number of@ s

functional links

mstability of the e::za;istertlo .
W‘herea% high functionaj linké
and ‘ ‘dwersity decreases the
stability of ecosystem.

Choos-e 'the ¢orrect answer from

the options given below :

{1} Both Assertion (A) and
Reason (R) are true and

Reason (R) is the correct

explanation of the

Assertion (A)

Both Assertion (A) and

Reason (R) are true but the
Reason (R) is not the

correct explanation of the
Assertion (A)

Assertion (A) is true, but
Reason (R) is false

Both Assertion (A) and
Reason (R) are false

9,

(2)

(3)
(4)

7. Match the following tribes with
their original profession.

Tribe Profession

A. Gowdalu I. Kumri
Agriculture

B. Hakki Pikki I Collection of
honey

C. Hasalaru I1I. Trade

D. Soliga IV. Pastoralism
monarchy
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. Tgﬁgedivide 1305, 4665 :;:
i jeaving the ?rh -
6905!ndcr in each case.
rflr:;ﬂlof the digits in N 18
8
(1) 4
(2) 5
3) ©
4) 8

what was the day of the week

15th August, 20107

(1) Sunday

(2) Monday

(3) Tuesday

(4) Wednesday

Government of Karnataka hasi

implemented  Bhagyalakshmi

scheme

(A) for improving sex ratio

(B) for improving birth of girl
child in the BPL families.

(C) to deposit T3,000 per

annum in the name of two
children, up to 15 years.

Select the correct answer from
the option(s) given below :

(1) Only (A) and (B) are correct
(2) Only (A) and (C) are correct
(3) Only (B) and (C) are correct
(4) All are correct
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13. A lady bought 2 sarees for a
total of ¥ 1,240. She sold one
saree at a loss of 8% and the
other at a profit of 12%. She
had neither profit nor loss in
the whole transaction. So, how
much does each saree cost?

(1)

YAk

1% ol

Rg i

12%

¥ 744 and T 496

840 and T400

¥760 and T 480

¥ 732 and ¥ 508
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18. How

%
v students play W 100

o students play
students play

what percentage do not
piay foatball and cricket?

(n
(2)
(3)
(4)

ndt nterest on a
e gt e pEf ARNAM
F.!.Eﬂ*'{q ¥ 46, then what
o intersst on the
qf the same rate fesr
jesed
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¢ sl

? 252

many odd integers between

try 009 have distinct digits?
320
500
450
400

16. A person covers 800 meters long
road in 6 minutes. What is his
speed in km/hr?

(1)
(2)
(3)
(4)

T2
8

82
6-8

17. Phillips curve is defined as

(A)

(B)

the increase in inflation
due to economic growth
leading to job creation and
decrease in unemployment.

inflation and employment
are inversely related.

Which of the statements given
above is/are correct?

(1)
(2)
(3)

)

Only (A)

Only (B)

Both (A) and (B)
Neither (A) nor (B)

{P.T.®.
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20. Which of the {ollowing forms

- = y Assets
mic slowdow ign Currency

the fiscal expendityye i (Ay Poreiss

Increased 'to boost the GDp (B) Gold . F‘

and INcrease the erve position in IM

employment and during the (C) Res

€tonomic boost the fiseal

D) Special drawing rights in
eXpenditure is decreas

ed, IMF

ing-in, as Which of the statements given
investment above is/are correct?

It helps in crowd
the private
increases as g

Government 3pen1¢-1ei;:%t N (1) Only (A) and (B)
Which of the statements given (2) Only (C)
above is/are correct? @) Only (B) and (C)
(1) Only () (4) All of the above
(2) Only (B)
(3) Both (A) and (B) 21. With respect to Balance of
(4) Neither (A) nor (B) Payments, consider the

19. Consider the

following statements :

following (A) Remittances and Grapts
statements regarding = GST form the part of capital
council : account.

(A) Union Finance Minister is (B) From 2001-2004, India had
the Chairman of the current account surplus.
sounel (C) India in  2020-2021,

(B) Voting power of States’

(C)

Which of the statements given
above is/are correct?

(1)
(2)
(3)
i 9
1619-D

witnessed current account

representatives collectively surplus for the first time in

constitute 2/3rd. history.

Council meetings proceed (D) Investments like FDI forms
only when 50% quorum is a part of capital account.
there.

Which of the statements given
above is/are correct?

(1) Only (A) and (B)
Only (2) and (B) (2) Only (A) and ()
Only (C) (3) Only (B) and (D)
Only (B) and (C) (4) (D) onl
y
All of the W‘\’R,W.Shikarat_com
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£ 23.

23. Consider

24,

the
statements  with
Treasury bills :

(A) These are long term deb
instruments  issued by
Centre, '

They are zero coupon
securities and do not pay
any interest, ‘

Which of the statements given
above is/are correct?

(1) Only (A)

(2) Only (B)

(3] Both (A) and (B)
(4) Neither (A) nor (B

!‘oliowing
regard o

(B)

Which of the following is/are
correct about Framework of
Green Deposits?

(A) Green deposit is a fixed-
term deposit for those who
want to invest in
environmentally  friendly
projects. Just like a regular
Fixed Deposit Scheme, the
green deposit pays interest
to its investors and has a

fixed term.

Current framework permits
green deposits to be
denominated in Indian
Rupees only.

(1) Only (4)

(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

(B)

Which one of ‘the following
statements best reflects the
features of the Gold Reserve
Standard mentioned below?

(A) It was popular in Europe.

'619-D

(11)

25.

B 1t _covd?
jong: P
aactive of this
(c) The obje ensure the

s {0
ndard wa sure
:tibility in exchange rates.

ensure the stability of

a hange T2 Great
:;ftaj‘n, USA and Gen‘naﬂ}
entered into 2 Tripartite
Monetary Agreement in
1939.

Choose the correct answer from
the options given below :

(1) Only (A)

(2) Only (A) and {C]

(3) Only (4), (B) and (C]
4) (A), (B), (C) and (D}

Which of the following

statements is true with

reference to Credit Default Swap

(CDS)?

(A) CDS is in operation In
India since October, 2012.

(B) Eligible participants are

commercial banks only.

Eligible participants are
commercial banks, Primary
Dealers, NBFCs, Insurance
Companies and MFs.

CDS is a credit derivative
that can be used to transfer
the credit risk.

Choose the correct answer from
the options given below :

(1) Only (A)

(2) Only (B) and (C)

(3) Only (C) and (D)

(4) Only (A), (B) and (C)

(C)

(D)

[P.T.O.
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i #6. Name the doey

b19-D

. RN adopted by
the  United Nations, Gienvera)
Assembly, in e 7O Beasion {n

2015 undey the agenda of 8D
st fioy El}’iﬂ-.ﬁi‘l?ﬂ_ o

{11 Iizxwhwing our world

{2) Enhm‘wing our world
{3)

Advancing our world

- Transforming our world

27. The Parliament of India consists

of three organs —
{1}  f) The President
(@) The Vice President
(i) The Prime Minister
{2) i) Council of Minister
(i} The President
(iii) The Prime Minister
(3) (i) The President

(i) Council of
(Rajya Sabha)

States

(iii) House of the People
(Lok Sabha)

(4) (i) The President

(ii) House of the People
(Lok Sabha)

(iii) The Prime Minister

propeﬁy took the

a8, The Right mz right through the

29,

30.

(13)
www.shikarat.com

ahape of Tega
{emstititional

(1] 24th 1971

Amendment Act,
Conafitutional
: 24¢h ut
- amendment Act, 1972

4 42nd Constitutional
o Amendment Act, 1976

(4) 44th Constitutional
Amendment Act, 1978

In February 2025, India and lt'he
United States announced which

significant agreement . to
strengthen defense cooperation?

(1) 5-year Defense Cooperation
Initiative

(2) 10-year Major Defense
Partnership Framework

(3) 15-year Military Training
Accord

(4) 20-year Technology
Transfer Agreement

What is the effect of a law made
up by the Parliament during
President’s rule, soon after the
conclusion of proclamation?

(1) Such law ceases to operate

(2) Will be in force as law made
by State legislature

(3) Continue to operate, till

amendments by State
Legislatures

(4) The Parliament has no
authority  to legislate

during the proclamation

[P.T.O.
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ing facts are
35, (\':?1111::\ one of the following a7. which of the muow:'?;% to 16th
NS 1S met A member of ¢ with resp®
NATO? correc (,Ommigsinn
. _ Finance : i
(1) Croatina A} Shri Arvind Pan%ﬁ;i;;ﬁ
(2) Denmark A ;ppﬂi“tcd an {he
(3) Finland of Commlﬂsionc mmission
(4)  Albania (B) 16th Fi:zg;iionz will be
recomm th
‘ ; ted from €
36, A series of international human 1mglcc;'ﬂ l:irsl;t April, 2026 for
f‘lghts treaties and  other g
Instruments adopted  since 5 years: toat
1945. Match  the Ligt—r (C) 16th Finance Commission
(Hurnan. Rights related recommendations will be
convention)  with  pige g implemented  from the
(Adopted year) A period 1st April, 2025 for
List—I List—IT Eﬁ% 5 years.
(Convention) (Year) (1) All of the above
A. Convention on the I. 1979 (2) Only (A) and (B)
Prev.entlon and d (C
Pu.mshrnent of the (3) Only (B) and (C)
Crime of Genocide (4) Only (A) and (C)
B. Convention Relatin
g II. 1989
to the Status of 38. Which of the following
Refugees statements are true?

E. an‘{enti.on of the . 1948 (A) Latest Karnataka State
Elimination of All Finance Commission is 5th
For{ns of Discrimination Finance Commission.
against Women (B) The Chairm | f th

. an o e

D. The Qonvenhon on IV. 1951 respective Commission is
the Rights of the Shri C. Narayanas
Child L nesTamy.

(C) The State Finance
Select the correct answer using Commission submitted its
the code given below - Téport to the  Chief
A B C D ll\(dmistf;'l,( Gt?vernment of
) ; _— 28;1:1 a mm February,
(2) I m v [ (1) All of the above
"(2) O
® m v 1 (2) Only (A) and (B)
(3) Only (B) and
4 v I 1T m - )
(4) Only (A) and ()
/619-D 17
www.shikarat.com [P.T.0.
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39, Which ol he followiy
statements ave trgep '8
(A) N*‘“"l“h‘ capital reee
covernment of Karnatakg
Budgetary  Bstimages for

the year 2023-24 ig T 250
crore, i

ipts of

(B) Non-debt capital
realized of Govern
Karnataka for
2023-24 (April-Fe
V12817 crore.

receipts
ment of
the year
bruary) is

(C) Realized non-debt capital
receipts of GOK 2023-24

are  greater than the
budgetary estimates by
33:93%.

(1) Only (A)

(2) Only (A) and (B)

(3) Only (B) and (C)

(4) All are correct

- 40. In February 2025, the Indian
: Government announced long-
term agricultural development

programs. What are the primary
objectives of these programs?

(1) Increase in coffee and tea
production

(2) Enhancement of pulses and
cotton production

(3) Promotion of oilseeds and
wheat production

(4) Boost in fruit and vegetable
export

19
www.shll)(a rat.com

the following,

ol correct?

g Are

41. Which

.‘Hntnmnnl
g Current Total
{e ('l‘l'!'R] is 21
o owomern.

lin
Ay Al Indi®
. pertility Ra
children pe€

This All india TFR is less

(B) y Kerala’s TFR.

that

8 taka
Current I'FR of Kax:na
3 is less than All India TFR.

(1) All of the above
Only (A) and (B)
(3) Only (B) and (C)

(4) Only (A) and (C)

42. Which of  the following
statements is true as regard to
the ocean water’s pH levels as a

function of atmospheric carbon
dioxide (CO,)?

(1) As atmospheric CO, levels
increase, the pH of ocean
water increases

(2) As atmospheric CO_ levels

increase, the pH o% ocean
water decreases

(3) As atmospheric CO_ levels
increase, the pH of ocean
water does not change

(4) None of the above

| B T:0,
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3.

44

45.

..

hIYS “\ & ) " B
Which of the following s net an
aampie ot A shortlived
0 donide
.\‘ \\ A h O “2\ \'nl
(&) Methane

'\\. one

Most of the carbon in the earth's
crust 18 stored in

the atmosphere

“
) ~gs
octan

(2) ocear sediments
sedimentary rocks

and

3) fossil fuels

(4) plants

Which planet (other than Earth)
is known to have a ‘runaway
greenhouse effect’ due to excess
greenhouse gases in the
atmosphere?

(1) Mercury
(2) Mars

(3) Venus
(4) Jupiter

Which novel won the Booker
Prize in the year 20247

(1) The Safekeep

(2) Creation Lake

(3) Orbital

(4) Stone Yard Devotional

47. Which city was the venue of 2nd
international AYUSH conference
and exhibition?

(1) New Delhi

(2) Dubai

(3) Mumbai

(4) London
/619-D

(21)

a8,

19,

50.

TR g u'unf' pof the title
feh
“;hl'\m 1 Bky lr\llt r

i

| v lnng Tipe! Renerve
\ I

(1) | )
(2) pench Tipet Reaerve

Mper Reserve
palamatt I'ip

()
(1)

' Ve
I“ll“l“’“ | ilH I\( ner

le n record by
Jh player i
:?;::iilnp Ii'uu!ml (riple century in

‘)
firgt class crickets

(1) Tanmay Ap,:_n'wnl

Hardik Tamore

(2)
(3) Shivam Dube

(4) Abhishek Reddy

Consider the following
statements :

(A) Atal Tunnel has been built
- by Border Road

Organisation.

(B) It is built under Shipki La
pass.

(C) It connects Manali to
Lahaul-Spiti valley.

(D) It is the world’s longest
tunnel with a total length
of 8 km.

Select the correct answer.
(1) Only (A) and (B)

(2) Only (A) and (C)

(3) Only (A) and (D)

(4) Only (A), (C) and (D)

BTG
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g ' ‘he
51. Which fundamental rights will 53, Consider 't:h mgard o the
be suspcndod. if Article 359 ig Ht”“‘”“.lﬂg wi
il]\'{)l((.‘d? .lllfli(‘i”".v »
' ragularnty
(1) Only Article 18 . qural ”r(,gl_ll o
_ (A) The proce e cr)n(ll.lc.. .
(2) Article 21 and Article 32 ““(-ﬂr_(l 1 by the
pmul‘(“"m er of each
(3) All fundamental rights - aiding Orfm:,iq]ﬂturﬂ is
except  Article 20 and Ihnusn of the ch_,u- 2 diction
Article 21 cubject t the J
‘ f the courts

(4) Article 20 and Article 21
me

the Suprc
(B) Judges of SubjCCted to

52. Consider the following . are
5 rt a
statements \Vlﬂl'l regard to money icn?ueach_ment tkl,lli
bill in the Union Legislature : gr;)unds of ijolation of t
(A) No bill is a money bill Constitution
unless it satisfies the ;
requirements  of  Article (C) When the office of. the Chlif
110. Justice of India 18 vacant,
: the next senior judge takes
(B) The President of India over as Chief Justice.
certifies the bill as money
bill. .
(D) Retired judges of the
(C) The difference between the Supreme Court could be
two houses on money bill o7 appointed as Judges of the
=k Supreme Court for a

to be resolved by Joint[E[E

session. specific period if the Chief

Justice of the Supreme

(D) The President - Court decides so with the
return the money bill to the consent of the President.
Legislature for
reconsideration. Which of the above statements

. is correct?
Which of the above statements
are ?
correct: (1) Only (A)
(1) Only (A) and (C)
(2) Only (B
(2) Only (A) and (D) v

(3) Only (B) and (C) (3) Only (C)
(4) Only (C) and (D) (4) Only (D)
)-D
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84, Clonnaideg

platementn,

following
relerence

(1

wilh 1)

{he Clovernm

(A)

(B)

(C)

(D)

Which

e Glovernor has the
power to appoint members
of the Stante 'able Herviee
Comminston  but  cannol

remove them,

power to
having

Governor's
appoint  ‘persons
special knowledge or
practical — experience’ (o
upper  chamber includes
the persons from the arca
of cooperative movement,

The Advocate-General for
the State is appointed by
the Governor and shall
hold office during the
pleasure of the Governor.

Governor is competent to
withdraw the ordinance at

any time.

of the  following

statements are correct?

(1)

(2)

(3)

(4)

19-D

Only (A), (B) and (C)
Only (A), (C) and (D)
Only (B), (C) and (D)

All of the above

25
www.shikarat.com
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By, Conslder

the following

Hitlit-“u-“iq with rf-wur] to the
;li,-.,lg}hn”f:n of powers betyery,

(Jrilon “”tl ftates |

(A)

(1)

(C)

(D)

Which of the

The final determination as
{0 whether a  particular
falls under the

matter
residuary power or not is

that of the courts,

On subject pertaining to
the BState list, Union has
exclusive executive power
to implement any treaty or
international agreement.

Upon a proclamation of
failure of Constitutional
machinery in a State, the
Governor assumes to
himself  the executive
powers of the State.

Tax on land revenue and

income tax on agricultural
land are levied and

collected by the Union and
distributed between Union
and the State.

above statements

are correct?

(1)
(2)
(3)

(4)

Only (A) and (B)

Only (B) and (C)

Only (B) and (D)

Only (C) and (D)

[P.T.O.
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60. triony
IV TATeh i T Tl AT
AR ANRR?
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(C) ®erhor vox
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(1) (A) W% () @ne,
(2) (A) @y (C) wnd,
(3) (1) oy (D) e,
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86. Consider the foll
Olow;j
ng BR. The aren of a rectangular field is

statements wit}
- 1r1re AT |
position on :\’nc}rqg- ;:d ‘f‘ Indin‘s 1584 m” and the length and th
ety : ar Proliferation , N I nre ir 1.l 't'c
at sendth 1 ] e ratio
of 7+ 2 reapectively. What ia the
(A) i:mu has refused to sign perimeten of the rectangle?
nlu'n‘ Mreaty ns i ‘i““ (1) 244 m
discnmimatonry and (Vides
i t > /
the world i [ divides (2) 292 m
mmto ”““h\n'
(3) 286 m

haves’ and ‘have-nots’
‘4) 288 M

(B) Im‘hn has signed the treaty
]“..”h the hope that it will 59, Chutus were ruling from _____
cad to nuclear free world. [ cif

) | w’;;? e .

(C) India will not give upm*" (1) Sannall
nuclear weapon plan when (2) Koppala/Kopana
others continue to possess 3 i
nuclear weapons. F) Banas=

(4) Badami
(D) India has signed the treaty
on condition that if 60. Which inscription establishes
neighbours develop nuclear the origin of Kadambas O
Mayurasharma?

weapon it should be free to

withdraw from NPT regime. (A) Gudnapur inscription

Select the correct answer. (B) Banavasi Naga inscription
(C) Talagunda inscription
Ay (2 Bgd i - (D) Ashoka’s rock edicts
Options :
1) Only (A) and (B)
(3) Only (B) (1) Only )
(2) Only (A) and (C)
(3) Only. (B) and (D)
(4) All of the above

(2) Only (B) and (D)

(4) Only (D)

7. In India, private satellite Vikram-S
the place where

61. Mention

was first time developed by
Chowkidari Tax was first
(1) TATA Sky opposed.
(2) Root Aerospace (1) Bengal
(2) Bihar
(3) Skyroot Aerospace (3) Delhi

(4) Sky Aerospace (4) Madhya Pradesh

D 273 . - [P.T.O.
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List] List )

v UHHR (Indan L Mnpadore

Inatitute of Nt
Hortieultural

Rescearceh)

[ NHE (National 1, lhllllHl'lllll,

Hortieultural Horyann
Ihluld)

COHVR (Indian L Varnnaoul,
Inutitute of Uttir Preadesh
Vepetable

Research)

D. CPCRI IV, Knnnrgod,
(Central Kernln
Plantation
Crops Resenrch
Institute)

Choone the correct nnnwer from
the options pgiven below |

A 13 (9 1)
(1 oIV
@ 1 v o
) m v l

I | TR [T

/

U Tempernte h ML

LR
Ly

19y, (41 )

(ool low g prvtien
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e
Mg sl
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gleag
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Loty

VoA el wemnl

A|||||l' miel

fper el g

el feviln

72,

How many  pde(n) plven nhove
I/ ure oorrectly otk hreely

(1) Only one prnle
() Only two pidis

() Only (hree pides

(:

) Al fotr patles
Connlde fhe followl g,
slalementy

(A) Mango frodt contudng the
highest Vitmmin A (4800 1)
lollowed by papiyn (20020
1),

(1Y) Choava feodts sre the rlchest
Houree ol pectin content
rather thiun Muongo,

Choose the correot option,

(1) Only (A) is correct

() Only (1Y) Is correc

() Hoth (A) and (18) are correct

(1) Both (A) wnd (1) wre
Incorrect

|01, 0,
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3 ith reference (o iron &
' 1 1 L
8% oduction in-Indin, whic, on
v [ LB
o the following  statemen

correct?

it

(1) Karnataka is (he |t‘!il”|l|’
producer ol iron I
contributing nbouyt 25% of
the total production

Ore

; m v Wy " ) vy

(2) The Sandur Range of jron
ore deposit is located p
western Odisha,

(3) The contribution of
Chhattisgarh in production
of iron ore is 5th in the
Country.

(4) In the hematite ore, the
metalhic content varics
hetween 35% to 50%,.

83. With reference to the Dravidian
North region of India, (.:()lwi(.it:r,[}l'._ﬁj"{
TR

the following statements : i ]

(A) The region principally
consists of the States of
Karnataka and Andhra

Pradesh (crstwhil.c),
although along the Statc
bhoundary, the region

merges into the adjoining
cultural areas.

(B) The rocks in the no.rthcrﬂ
part belong to the Basa._lt
and the earlier JurassiC
group and those of .t:he
south dominantly granite.

; - the

(C) The river basin Of'taz}c
region provided 2 Suilnitial.
setting for  the the

o for
human occupants f

Pr‘ehistoric gettlers.

”‘l‘).D

84

How many of the

State
plven nbove is/are eI

Correct?
(1) Only one

(2)  Only two

(3)  All three

(1) None of the aboye
Consider the following
atatements |
Statement-1 : The Dravidian
language  family  is  located
mainly in southern India.

SBtatement-II : India pave

recognition  to  the  major
languages belonging to the two
languages family : the Indo

European and the Dravidian.

Which of the following is correct
in respect of the above
statements?

(1) Both Statement-I and
Statement-II are correct
and Statement-II is the
correct  explanation  of
Statement-I

(2) Both Statement-I and
Statement-II are correct
and Statement-II is not the
correct  explanation  of
Statement-I

(3) Statement-I is correct but
Statement-II is incorrect

(4) Statement-I is incorrect
but Statement-II is correct

www.shikarat.com | PR
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jth reference to the Himalayan

85 River System of India, consider

86.

the following statements ;

A T.hreﬁ ‘“i'llm‘ river systems
viz the Indus, the Ganga

and  the Brahmaputra
comprise the system

B) Many of these riverg existed
even before the Himal-iy.g{n
range were uplifteq. |

(C) The Himalayan Riversg are
the typical €Xample of
antecedent drainage,

How many of the statement(s)
given above is/are correct?

(1) Only one
(2) Only two

(3) All three Z 4L

(4) None of the above

With reference to
population density
consider the
statements :

Indian
2011,
following

(A) The country had a general
density of 382 persons per
square kilometre.

(B) State of Bihar emerged as
the most densely
populated State in the
country.

(C) Some of the States which
had a density higher than
the national average
included West Bengal,
Kerala, Uttar Pradesh,
Tamil Nadu and Punjab.

87.

88.

statement(s)

ny of the
How many correct?

given above is/are
(1) Only one
(2) Only two
(3) All three
(4) None of the above

with reference to the trenc} of

urbanisation in India, consider

the following statements :

(A) The level of urbanisation in
India is relatively low as
compared to the rest of the
world.

(B) The pace of urbanisation
which had started picking
up during 1971-81 had
slowed down substantially.

(C) There is a very high
disparity in both the levels
of urbanisation as well as

the pace of urbanisation
across various States.

How many of the statement(s)
given above is/are correct?

(1) Only one
(2) Only two
(3) All three
(4) None of the above

The physiographic features are
given below :

(A) Karewas
(B) Shiwalik
(€] Dun

(D) Loktak

Which of the above is famous
for saffron cultivation?

(1) Only (B)

(2) Only (A)

(3) (A), (B), (C) and (D)
(4) Both (A) and (B)

[P.T.O.
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cgnsider the fO]lOWiI‘lg
4 statements related to natural
vegetation in India :

(A) Tropical ~wet evergreen
forest is found in the area
of more than 200 cm and
above rainfall along the
western coast of Kerala.

(B) The moist deciduous forests

are found in the areas

which record annual rainfall
between 100-200 cm.

(C) Tropical thorn forests in the

areas of annual rainfall

between 70-100 cm.

(D) Mangrove forests occur in

desert areas of Rajasthan.

Which of the following answers
with reference to the above
statements is/are correct?

(1) Only (A)

(2) Only (A) and (B)

(3)
(4) Only (C) and (D)

Only (C)

. Consider the statements with
reference to soils in India :

(A) In ancient times, soils were
classified as Urvara and
Usara.

(B)
classified by ICAR as per
USDA soil taxonomy.

Entisols are kind of soils

(41

L
[

91.

(C) Black soils occur in the
western coast of Keralg

(D) Laterite
distributed
forest areas.

soils are

Which of the following answers
with reference to the ahove
statements is/are correct?

(1) Only (A) and (B)
2) Only (A), (B) and (C)
(3) Only (D)

(4) All of the above

Consider the following
statements :
(A) Narmada river flows

~ through rift valley between
Vindhyan and Satpura
ranges.

(B) Bharathapuzha is the

longest river of Kerala.

(C) Mahanadi discharges its

water in the Arabian Sea.

(D) The Chenab is the largest

tributary of the Indus
River.

Which of the following answers
is/are correct?

(1) Only (A), (B) and (C)
(2) Only (&), (B) and (D)
(3) Only ()
(4) All of the above
[P.T.O.
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02. consider the  following  pairs

93. Consider

(3)

about shifting cultivation

(A) Central America @ Milpa
(B) Congo : Masole

(C) Ceylon @ Chena

(D) Thailand : Conuco

Which of the statements given
above are correct?

(1) Only (A) and (D)

(2) Only (C) and (D)

(3) Only (A), (B) and (C)

(4) All of the above
the following
statements :

Statement-I : Magnetite is the

finest iron ore.

Statement-II : Magnetite has a
very high content of iron
between 50% and 65%.

Which of the following is correct

in respect of the above

statements?

(1) Both Statement-I and
Statement-II are correct
and Statement-II is the
correct  explanation  of
Statement-I

(2) Both Statement-I and

Statement-II are correct
and Statement-II is not the
correct  explanation  of

Statement-I

Statement-I is correct but
Statement-II is incorrect

Statement-I is incorrect

but Statement-II is correct

WWW., slyl(arat com

94, Match List—I with List—II and

A.
B. Kabartal wetland

&

select the correct nnswer using
the code piven below
List—I List—II
(Ramsar wetland (State)
sites as on
January 2024)
Bihar

Deepor

Beel l.
[[. Mizoram

C. Sirpur wetland [1I. Assam
D. Pala wetland [V. Madhya
Pradesh
Code :
A B C D
[&]
= (1) m 1o I IV
2 1 1o m v
3 Iv. 1 m I
(4) I I I\Y% I
95. Which of the following
statements regarding  Tiger

Reserves in India (as on January
2024) is/are correct?

Statement-I Kamlang Tiger
Reserve is located in South-East
of Lohit district of Arunachal

Pradesh.

Statement-II : Namdapha Tiger
Reserve is located in Changland
district of Arunachal Pradesh
and it is surrounded by
Myanmar on the South-East.

(1) Only Statement-I

(2) Only Statement-II'

(3) Both Statement-I and
Statement-II

(4) Neither Statement-I nor

Statement-ll

[P.T.O.
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96. Match List—I with List—IT and
select the correct answer using
the code given below

List—I List—II

(Small Hydropower
Projects under
Implementation)

(State)

A. Taktsang Chu . Sikkim

B. Riangdo II. Nagaland
C. Kawlbem III. Meghalaya
D. Duilumroi IV. Mizoram

V. Arunachal
Pradesh

Code : [l

A D
1)y v 1o I N
@ mM I N V
@ VvV m IV I
4 m O IV V

97. Aral Sea is located in between
(1) Kazakhstan and Uzbekistan

(2) Uzbekistan and
Turkmenistan

(3) Kazakhstan and Kyrgyzstan

(4) Turkmenistan and
Kyrgyzstan

619-D

www.Shikarat.com

98. Match List—I with List—II a'n.d
select the correct answer using
the code given below :

List—I List—II
(Mountain (Country)
Range)

A. Atlas Mountain I. Australia

untain II. Morocco,

B, Taurus Mo Algeria o g

Tunisia
C. Brooks Range [1l. Turkey
D. MacDonnell V. USA
Range
Code :
A B C D
1) v 1 m I
2 o m v I
@ m o I IV
4 o0 m I IV

99. The average of four consecutive
odd numbers P, Q, R and S
respectively is 104. What is the
sum of P and S?

(1) 204
(2) 208
(3) 206
(4) 121

100. A sum of ¥ 7,740 is to be divided
among A, B and C in the ratio
of 7 : 5 : 8 respectively. What is
the difference between Cs and
B’s share?

(1) 387

(2) 1021
(3) 1161
(4) 1616

LB T. Q.



